Shooting Arrows Through a Hoop	


Given descriptions of two curves in a coordinate plane:


(I)	�EMBED Equation.3���;


(II)	a straight line passing through the point (2, 0),


1.	Determine the relation between the slope of the line (II) and the number of points of intersection of the two figures.


2.	Sketch a graph of this relationship.


3.	How does the graph in 2 change as we move the point (2,0) along the x-axis and look at the clusters of lines passing through each point (instead of (2,0))?


4.	How does the graph in 2 change as we move the point (2,0) along the line represented by �EMBED Equation.3���?
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